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EX LY

{1023} 1. Dretermine the forcs in mambers AL, T, amd CF of the truss shiown,

(20351 2, To the left of paind B 1he long cable ABDE 10515 o0 the rough horizontal sudface

shewn, Kowitg ki the coble weighs 1.8 W, determion the fyrce F required
whan a=% . {20%)

104

{3084) 3. Define the fotlgwing in derms of Engineering Mechanics

(1] Mewton's Law

(2) Imtertial Bystem

{3) Pergen and Apoges

(4) Particle and rigid bady

(31 MAss Center and Poncipal aves of jnertia
{5 Kawrsl frequeocy

(B0 25 B s i)
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(2095 4. A homogeneaus sphere zrd 2 homogeteous cylinder rall, withaut slipping, from
rest at the top of an inclined planc to the bolmem. The momenis of iner(ée for the

sphece and the cj.-']iﬂd_er are % (H fg}rf and % i :g}:ﬁ . respectivehy.

The subseripts 5 and ¢ refer i the 3phere and the eylinder respedtively. |,

swd g, arethe weights; po and p o are ehe radii of the sphera 21 tha

cylinder, recpectivaly. g 18 gravily.

(1} ¥Which ceaches the bottom ficst?  Calculate the seccderafion.

(2} IFehe spliere and the cylinder are fa hewe rolling wAth shpping modion |
Which reaclies {le bottom Grst? Juslify your answer Ly calculating the
pecelecarion.

(2076} 5. The 0.8-m arin OA for A remotecontyol mechanism is pivoted about the
horizantal .« -2 oF the clevis, and the entire assembly rotates ebouk the
Z-3kis with n consant speed N =30 rew'min.  Simuoltansousty the arm iz

being raised at the case ,;!'EI‘-HI rads amd ,&hi radf 52 .

{13 For the position where [ = 30° determine the 2hgutyr velodty and the
angsdar acceleration oF DA,

£2) M o collar 3 3% traveding outward to point & at the velogity 0.0 mieg

measured relative (@ the gron AL At the insant when OB=0.1 o, Find the
velacity and acceleration of Lhe colfas i the ioertial reference frame.




